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General Instructibns :

1._The quistion paper comprises of two Sections, A and B. You are to attempt bath the

e-e;'l'iﬂfisr__

:4".‘. Al} qutﬁﬁnns are compulsory

'3, All questions of Section-A and all questions of Section-B are to be attempted separately,

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered

* in one word or in one sentence

5. 'Question numbers 4 to 6 in Sections-A are two marks questions, These are to be
answered in about 30 words each,

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

B Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Lach question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Fach
guestion is of two marks.

SECTION-A
Name two enzymes present in pancreatic juice.
State the direction of the magnetic field inside the bar magnet
Name two elements used in fission chain reaction in a nuclear reactor.
A white chemical compound becomes hard on mixing proper quantity of water. 1t is also
used to maintain joints in a fixed position. Name the chemical compound and write its
chemical formula. Write the chemical equation to show whal happens when water is
added to this compound in proper quantity.
Which of the following listed metals can displace zine from ifs  salt
solution ? Give reason of your answer along with chemical equation.
Copper, Lead, Magnesium, Stiver.
Draw a neat and labelled diagram of neuro-muscular junction.
Describe an activity lo show that the effect of a base is nullified by the addition of an acid
and vice-versa. What is the name given to this reaction? Define it.
Define the term decomposition reaction. Give one example each of thermal decompesition and
electralytic decomposition.
What is cinnabar 7 How is a metal extracted from cinnabar ? Explain briefly,
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[a)  What will be the action of litmus on :

{il Dry ammonia gas
[} Solution of ammonia gas in water

(b} State the observations made on adding ammonium hydroxide 1o agueaus salution of ©
[i) Ferrous sulphate
(i) aluminium chloride

Write two different types of movements shown by plants. Explain by giving one example
for each.

State the difference between transport of materials in xylem and phloem.

State the source of secretion and function of the following hormones ;

(1) Thyroxin {ii) Insulin (ili} Growth hormone

State (Ohm's law, Draw a circuit diagram to verify this law indicating the positive and

negative terminals of the battery and the meters. Also show the direction of current in the

circuit.

With the help of a diagram for the experimental setup describe an activity 1o show that g
current carrying conductor placed in a uniform magnetic field experiences a force.

A current of 5 amperes is passed through a conductor of 12 ohms for
2 minutes. Calculale the amount of heal produced.

(i)' Mridu says that if we start living as our ancestors, this would conserve energy and our

ecosystem.” Do yow agree with her or not ? Give valid reason for VOur answer.

[11} Name any twao sources of energy which give less danger to our environment while

being used.

If energy can neither be created nor destroyed, explain with an example as to why we

should worry about our energy resources ?

ffal  Explaintwo ways by which food industrics prevent rancidity.

(b)  Discuss the importance of decomposition reaction in metal industries with three

points.

{9.}" The pH values of six solutions A, B, C, ), E and F are 0, 11, 6, 7, 13 and 4

Tespectively, Which of these solutions is

i Weak acid

fii} Weak basc

{ili)  Strong acid
,Iivj ~ Strong base
J¥)  Neutral.

f:'a:!mg,e the solutions A, B, C, D, E and F in decreasing order of hydrogen ion
concentration.
ibf  Two solutions X and Y are tested with universal indicator,

Solution X turns orange whereas solution Y turns red. Which of these solutions is a
stronger acid ?
(e} The pH of a cold drink 1s 5. What will be its action on blue and red litmus solutions
2

(a) Explain how does the exchange of gases occur in plants across the surface of stems,
roots and leaves, '
(b)  How are water and minerals transported in plants ?
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§  The heating element of an electric heater glows while the cord does not glow. Give 5
reason.
(b} Which uses more energy a 200 Watt Television set in 40 minutes or 1000 wall toaster
in 20 minutes?
{a) Define a solenoid. Draw magnetic field lines produced by a current carrying 5
solenoid.
(b)  List three ways in which magnetic field strength of a current carrying solenoid can
be increased.
In the circuit diagram given below : 3
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[a) Find the combined resistance,
() Find the potential difference across the combined resislance.
(c) Find the potential difference across the 6 {1 resistance.
(d)  Find the current in the 6 {] resistor.
(e) Find the current in the 12 [} resistor.
SECTION - B
You are given solutions A and B whose pH values are 6 and & respectively. What do you 1

infer from this information?

fa) Strength of solution B is higher than A

() A 1s an acid while B is a base.

(€] Both are acid solutions.

(d) Both are base solutions,

On adding universal indicator to sample X, Y and Z, it was found that the colour changes 1
were green, red and blue respectively. The decreasing order of pH is

(a) X>¥Y>Z by  Z=X>Y

[} Y=X>2 id) I>Y>X

The colour of Zinc metal is ; 1
fay Light grey (b} Reddish brown

(€] Black {d)  Light yellow

Out of the following sets given, Anjali observed after an hour that a coating was deposited 1
on iron filings in the set :

-\\: i "'hl L
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(aq)  El.iige] ,[3333--3; b (ag)
Fe filings Fe filings Fe filings
i) {10 (1)
a) {1} and (11} ) (T} only

() (Denly (d) (1) only
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Rohit added a few Zinc granules to ferrous sulphate solulion and recorded his 1

obrervations, | he correct observation will be

[a} FMale grecn colour of solution tarns black.
(b} Fale green colour of solution disappéars and it becomes colourless,

(<) Pale green colour of solulion becomes blue,

{d}  Pale green colour of the solution disappears, black deposils are seen on granules,
The following instruments are available in the laboratory :

Milliammueter A of range (-300mA and least count 10mA

Milhammeter Azof range (-200mA and least count 20mA

Vaollmeter Vo of range -5V and least count 0.2V

Voltmeter V) of range 0-3V and least count L3V

Out of the above given instruments,which pair would be the besl choiee fur carrying ot
the expuriment to determineg the equivalent resistance of bwo resistors connected in series:
fa) Milliammeter A, and voltmeter V,

§=}] Milliammeler A and voltmeter Vs

ieh Milliammé@ter Ay and Wlh‘l‘l!t'!‘l’ Vs

[} Milliammeter Az and voltmeter ¥V,

When parallel resistors are of Lhree differenl values, the potontial difference across its
terminals is-

LEY] greafest across smallest resislance
(b} greatest across largest resistance
{c) vqual across each resistance.

(i) Irast acress the smallest resistance

Befare. lesting the experimental leaf for starch al the end of the experiment. “light is 1

NCCCsSary for photosynthesis” it should b boiled
in:

{aj Water

it}  Alcohol

fel WY solution

{d) tivdrechloric acid

The purpose of keeping some KOH in the test tube with the germinaling seeds in the
conical flask in the set up to demonstrate that 'COk is released during respiration® is ;

fa) to absorb water from the seeds to make them dry

(k) tos make the air in the flask warm

ic) to absorb ('0); and create partial vacuum in fhe flask.

id} tw provide O: to the germinating seeds

While studving the double displacement reaction, the solulions of barium chioride and
sodium sulphate are mived together.

i) What do you observe as soon as the two solutions are mixed together ?

{iii ~ What will happen in the above observation made by you afier ten minutes ?

In ﬂ‘iﬁ?ﬁrimcm‘ to study the dependence of potential difference (V) on the eleciric current
{1} £ <2 conduclor (resistor), if the circuit is on for long lime, then- (sl two correct
optiunsj from the following :

fi} LZero crror of an ammeter will be changed

(it}  Zero crror of a voltmeler will be changed.
{111} Walue of a resistance will be changed.

[iv)]  Resistor will be heated

Mention any fwo characteristics of epidermal cella
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